1) Let X ~ Uniform[2, 6]. Find the value of P(1 < X < 5). (Write your answer correct to two decimal places.)
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2) Let X ~ Uniform[a, b]. If P(X < a + 2) = 0.2, what will be the value of P(X > b—2)?
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3) The amount of milk produced every day by a dairy is uniformly distributed between 100 litres and 120 litres. What is the probability that the amount of milk produced is more than 115 litres given that on that day, more than 110 litres of milk was produced?
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4) Let X ~ Normal(3, 16). Then, around which value X is most likely to occur?
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5) Let X ~ Exp(5). Find the value of P(X < 10).
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6) Let X ~ Exp(2). Find the value of P(3 < X < 5).
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7) Let X ~ Normal(50, 25). Find P(X > 50).
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8) Let X ~ Normal(50, 100). Find P(45 << X < 62). (Assume that F'z denote the CDF of standard normal distribution.)
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